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(99) PRI PRI , TISI 7 THStol — Afgelr, Jo,

B ARTRG T Aeuid

A FRisp, TS g TSt

Greflel SIS Sfesal.

31 - 9mead e &)

31) 9mead fIpRIR €T . 90
) omead fap™I &Jd %. 93
%) MTd AP & . 9%
T) 9omead faorara &3 %, 94

gt SR :

NP I -9, -, F-3,-%

3)A -4, T-2, B-9Y,8-9
Match the following list.

A — Sustainable Development Goals
a) Sustainable Development Goal 10

b) Sustainable Development Goal 13

c¢) Sustainable Development Goal 14

d) Sustainable Development Goal 15

Answer options :
a—1,b—2,c—3,d—4
3)a—5,b—2,c—4,d—1

g - gt 3rTum=aT gret
9) gamH fehar

R) SRt Sfa

3) FHMAT HHT ROy
¥) UTOIRATAI STiae
Y) SR e

)3I-,T-3,Pd-4,8-39
$)J-3,§-9 F-%,8-R

B — Related items
1) Climate action

2) Life on land

3) Reduce inequalities
4) Life below water

5) Poverty alleviation

2)a—2,b—3,¢c—5,d—4
4ya—3,b—1,c—4,d—2

et fAeprT &7 (SDG) ~ @1 3.9 THR, 2030 T el SR HITHIL FHIE Sfe¥ Hfdt 9,00,000

g SFEEm ITE.
9) 940 Y&I PHT ?) 900 UeT pH

3) vo Y& FHH ¥) 4o U PHH

The target of maternl mortality ratio, to be achieved by 2030, as per Sustainable Development
Goal (SDG) - Target 3.1, is ....cooeoe per 1,00,000 live births.

1) Less than 150

2) Less than 100

3) Less than 70 4) Less than 50

2094 HEY HYH IFHT oAb, T ST FHLATS foreht emead farT aedr (SDGs) FfeRefr 3med ?

9) 94 Q) 9%

3) 9V g) 9¢

How many Sustainable Development Goals (SDGs) are adopted by United Nations in 2015 for
its agenda of action for people, planet and prosperity ?

1) 15 2) 16

3) 17 4) 18

PO SDG I FINCIie] FaRAS! ARFIGRIT Stie AT FRIRAIC! AT PeUTRIIS HRATET ol 2

9) )3

3) & ?) ]

Which SDG deals to ensure health lives and promote well-being for all at all ages ?

1)2 2)3

3)6 4)9
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AT ST e STeTedT Qe R dhefl Sies e

9) DALY Q) HDI 3) PQLI 8) HPI
Human Living Standards can be compared in different countries by
1) DALY 2) HDI 3) PQLI 4) HPI

‘omead famrITl SR - 09Y’ Y NaTeflel &sfiaT FHAYT B,
37) e TIRUIcie] AEHD SRS G- ROl ) Theh SIEHIRD STia- A9 .

%) form Aqure fmfor @R, 3) IRISH HAfiGRY For.
Rl DI U™ SRR MR ?
9) 31, §, B MU S )T, PHIMTS 3) 31, g 3 s g) o, &P M S

‘Sustainable Development Aims —2015’ includes the following areas
a) Eradication of universal poverty in all sector b) Enriching life on land only

c¢) Creating gender equality d) Partnering for a goal

Which of the above sentences are correct ?

1)a,b,candd 2)b,candd 3)a,bandd 4)a,candd
S CREE0: R qfed axal

) HHAR DT ¥) GNP 73 416

®) AHINID HEeHd YR 3) AMITD =

Tt S

9) 3, b I Q) I}, IT P 3) 3, § 98 $) 4, b I
The social development implies

a) Welfare of human being b) Rise in GNP

¢) Improvement in social organisation d) Social justice

Answer Options :

1)a,candd 2)a,bandc 3)a,bandd 4)b,candd

Hifcrep ureRt FSere (PQLI) HEd avesc |d HIIE 3fTed

q) |TERAT R) I R

3) Ud 9T STRAM g) el GDP
Physical Quality of life Index (PQLI) include all except

1) Literacy 2) Infant mortality rate
3) Life expectancy at age one 4) GDP per capita

WHO TR g0 HMHIeaT AL el 4 A1 JAed

q) el ST gy R) I 0T AT

3) JIRRATT RS UTco! ¥) Al g

Standard of living as per WHO includes all except

1) Sanitation and nutrition 2) Income and occupation
3) Level of provision of health 4) Human Rights
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AT [T & Sleredr FMag! faRuRt Ufoh SR, T Jeis aeiar FHae gl

a) SPGB 7T FRIAf s b) framr
¢) NEuiHERET ST et d) iReed wenfr ge
g SR :

q) Weh (a) 3O (b) Q) b (b) MM (c)  3) B (), (b) M () 8) NS T

Human Development is a process of enlarging people’s choices. It includes the following things:
a) Long and healthy life b) Education

c¢) Decent standard of living d) Substantial Reduction in poverty

Answer options :
1) Only (a) and (b) 2) Only (b) and (¢) 3) Only (a), (b) and (c) 4) All of the above

adt faeprd M med TR GRS FIGATBIE .o, iy e, Sl IR
EINIEIECRIEIG

) IR ) I %) fareror g) I

i IR :

9) 31, § AT B )T, P IMIS 3) 31, P M § $) 3, g M S
Multidimensional poverty index has three dimensions mirroring in the Human Development index.
a) Health b) Income ¢) Education d) Living standards
Answer Options :

1)a,bandc 3)a,candd 2)b,candd 4)a,bandd

UNDP’s d1 3Tq¥T 3TR:

31) g dGeTrd oichH]

§) TReteft e

%) HFA! BT, YATaRUT Fae SMfoT THT
) YITeRUI 3 el YRUI AT Gegel o] hrol

T I :

9) (a1) 3mfor (9) Q) Beh (F) 3) (%) 3o () g) Bh (8)
UNDP’s mandate is :

a) the assessment of climate change

b) to fight poverty

¢) human well-being, environmental conservation and equity

d) implementing environmentally sound policies and practices

Answer options :

1) (a) and (b) 2) Only (b) 3)(c)and(d) 4) Only (d)

e T TR fidhd fAgeiur Wieflet aTfegR del 37T,

q) T S IUIGHAT U R) IS AT THT

3) N gl 8) eIl ATE

The role of health in economic development is analysed by the following channel.
1) Direct labour productivity effect 2) Indirect incentive effect

3) Both of the above 4) None of the above
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98) TSR PIUAT GITT 2Mead fIprIaT FeheUmd quie Rl ?

14)

)

1)

Q)

2)

3)

3)

9) ICYPIGI IR STV T HAT FREBS! QLIPS !

?) gRa gl

3) A fUeaTeaT RS WHTIAUITeaT &Mdelt desiie T axdl Jan fuehear TReTrT geiar

¢) A gl

Which of the following describes the concept of sustainable development ?

1) Along-term growth without caring for short-term objectives

2) Green growth

3) Meeting needs of present generation without compromising ability of future generation to
meet their own needs

4) Equitable growth

farT Bricsw - Afgen, got, U8 AFRS i deHid

2033 HHfies AT SFRAPIHEN HEIHT SHCRTE o5 S SR STl STaRT! arfiies Hafer et
RGH ATefquaTd Bfid HREATT 1 e 2

) IR 9 SRAET Y BN ¥) I 9.40 BG4 BRI
F) B9 2 BEETOT ¥ SR 3) TR .40 SRIAEIT ¥ B
gl SR

) Feh P AN T RIS R) Fh § TR

3) Beh © SRISR ¥) Weh 31, 3N & RIS

In the state budget of 2023, the annual limit of treatment in Mahatma Jyotirao Phule Jan Arogya
Yojana has been announced to increase by what amount?

a) 5 lakhs from Rs 1 lakh b) 5 lakhs from Rs 1.50 lakhs
¢) 4 lakhs from Rs 2 lakhs d) 4 lakhs from Rs 2.50 lakhs
Answer options :

1) Only C and D are correct 2) Only B is correct

3) Only d is correct 4) Only a, and c are correct

TMRAT S ATt SFTETT JRAT ATE SIS ToriedT 3Mfeh AERATHRAT SIHTRIT DIvre FNeKiles SRTer ?
9) 9¢ T y¢ ) 90 T uy I 3) 9¢ T vy a  ¥) 9 T Y¢ TN
What age should be the beneficiary for the financial assistance of Gopinath Munde Shetkari
Accident Safety Grant Scheme?

1) 18 to 58 years 2) 10 to 75 years 3) 18 to 75 years 4) 21 to 58 years

R WaTdies Rudr aiReeT SRx1 T it Figdiaas don sidtd PgdiiaaraT s Riavare)
faerar Afgesd o fohcll SRV 319 3Mg ?

)P ¢ 9 T gy auimia Q) fhM g0 a¥ O ¢o autRid

3) fF wo Iy o VR auTRId ¥) fopaM €4 T RIS [d

What is the age of a widow below the poverty line to get the benefit of pension under the Indira
Gandhi National Pension Scheme?

1) Minimum 18 years to 65 years 2) Minimum 60 years to 80 years

3) Minimum 40 years to 79 years 4) Minimum 65 and all above

e § 9 T1E P EURISITS! SuYGh FTRUE : WA Jrfeael / €3
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Stegl TR Pedral diadm oMb ......... ceh fobar e Siftreh SR, JTAw! I Pgd 3Fh T

(9gferT) SR AFel ST

) 20.33 ) 40.33 3) 80.33 8) 33.3

If deprivation score of a household is ......... percent or greater, then that household is called
multidimensionally poor.

1) 20.33 2) 50.33 3) 40.33 4) 333

PRIUR ShiHT Hed PRUITAT I /o Ml FRIUR SFEH Ao Jicid Uebet arTeifer Gxwer fobct
%A Tl S ?

9) 3. 300 Q) B. §00 3) ¥. R00 ¥) 9. 9,200

What amount is given to the single beneficiary per month under ‘Sanjay Gandhi Niradhar Anudan

Yojana’, which aims to help the destitute persons?
1) Rs. 300 2) Rs. 600 3) Rs. 900 4) Rs. 1,200

GHT ARG ARSI T BB [THIIGR AERTY IS5 SIRG NURATes! STHOTIT U1 e d
e febclt YepH HoleaT ST 9 guTed] 3T STRYfAHT HeHeesredl Ard afuard ad ?

9) . 29,200/ - Q) B. R,R00/- 3) B. 4,000/ - ¥) ¥. 23,000/ -

Under Sukanya Yojana, how much amount is invested in the life insurance corporation scheme
within 1 year of the girl child's birth in the name of the eligible girl child born below the poverty
line in Maharashtra State by the Department of Women and Child Development?

1) Rs. 21,200/- 2) Rs. 22,200/- 3) Rs. 25,000/- 4) Rs. 23,000/-
UFABRIA] HEKIG! QSGUD! DIV JAUHRITd! TAPR Pedml el FAOH aRua 31
S

) HERHEl SIfRIE Hob ?) S STl SHeR

3) Wt BRI TgIoT Q) TR JAGTRIT TIET0T

Which of the following Golden Jubilee Journalists Welfare Fund has been established for the
welfare of journalists?

1) Mahatma Jyotirao Phule 2) Acharya Balshastri Jambhekar

3) Swami Shankarao Chavan 4) Late Yashwantrao Chavan

ST I g FaSIg TCHING QINGIRIEGIG Tilfed P SHH IUGY Ho- QU -
WSIGID! DIV JoHT I5aE JJefvad Id - ?

9) SI. IERY IfPShR PYl Idead IS

) FHIR TCNIRY TGS FGRIHR0 g FaTHH= AT

3) fRam ger ot hich gio

) Sl. USRI Qi@ Sifdep il ST

Which of the following scheme is implemented in the state to provide land to landless families
belonging to scheduled castes and neo-Buddhist groups below the poverty line?

1) Dr. Babasaheb Ambedkar Krishi Swalamban Yojana

2) Karmaveer Dadasaheb Gaikwad Empowerment and Swabhiman Yojana

3) Birsa Munda Krishi Kranti Yojana

4) Dr. Punjabrao Deshmukh Organic Farming Scheme
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WISIGUDT DIV /PUIT AT HiZST T ITofadrT fummHhd IEfevarg Ida ? STRET IR -
REE)S

1) a9 FI Hex ) IFAA D) Geh-aT TGl g) WUR
gt S
9) Bh I T J)Bh I, PITS 3)Ph A, TS 8) Beh 3T, I 8

Which of the following schemes are/are implemented through the Department of Women and
Child Development? Choose the correct answer option.

A) One stop center B) Ujjwala C) Sukanya Samriddhi D) Swadhar
Answer options :
1) Aand B only 2)B, Cand D only 3)A, B and D only 4)A, Cand D only

SeTs sicdicy IS ST WISIGYHTN BIvd 3g ?

q) AT AT U PRIHH

Q) ITHior YRAT RS fIRRIT 89 S freiur Heeriged FRelicHd &dT SR,

3) RIS ARRE Gfawrh M @,

¥) FIIIERIAT TSkl "M U RIS e AT SHRUITR R I,

Which of the following is the objective of Deendayal Antyodaya Yojana?

1) Urban School Nutrition Programme

2) Building institutional capacity in higher education institutions considering the needs of rural
India.

3) Creating civic amenities for the poor.

4) Emphasis on building strong institutions of the rural poor through self-help groups.

ST GREM AT (JSY) B oo YRS I 3778,

1) WHO ?) UNICEF 3) T ABR 8) PG TRDHR
Janani Suraksha Yojana (JSY)is ....c.ccc.cee.... sponsored scheme.

1) WHO 2) UNICEF 3) State Govt 4) Central Govt

PMJAY aiiear deHfd @refler faum famrd &

a) B ST Faid AIo! IR AT JSHT Mg, STt QU0 IRBRGR fIGRaaT dheft STl

b) g PIgH® MBR, T fbar fofl AR FEURE IRFT HaT [AHE Fd ANRBMHT HeleiRd HaeT HSH
IR,

¢) g HRATS ATdSTep febar WIoTt BR0MerdTe G ST FTeiQ1eh SRgTel PRI YRS Ui Hge
gfcy a9 . 4 ARG DR UG PR,

d) Ml giftcamRemydiear 3 feaamia snfir gieaRiemHaRea 9y feadrear Tk SR &
e arfor silve Farfdw armga.

RITDT DI fIer™ AT 3ied/3Med ?

9) a 37T b weh ) a, b 27T ¢ weh 3) b, ¢ 31T d weh ¥) a, c 31T d weh
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Consider the following statements in context to PMJAY Scheme :

a) Itis World's largest Health Insurance Scheme, fully financed by the Government.

b) It provides cashless access to all citizens to health care services with restrictions on family
size, age or gender.

c¢) It provides cover of Rs.5 lakh per family per year for secondary and tertiary care hospitalisation
access at empanelled public or private hospital in India.

d) It covers upto 3 days of pre hospitalisation and 15 Days post hospitalisation express such as
diagnostics and medicines.

Which of the above statements is/are true ?

1)aand b only 2)a,band conly 3)b,cand d only 4)a, candd only

IMST IO IER AoHeft GBUDT PIoTcar et FefRreT amed ?

a) Trfies e Ao B, b) faemeaffi geicult arefqo.

¢) HItd UMY ITed T, d) N a4

iU P e /U™ sRIsR 3g/3med ?

q) (a) 3T (b) R) (b) 3mfor (c) 3) (a) 37T (c) 8) Wch (d)

‘Which of the following is related to school mid-day meal programme ?

a) Universalization of primary education b) Increasing student enrolment

¢) Distribute free uniforms d) All of the above

Which of the statement(s) given above is/are correct ?

1) (a) and (b) 2) (b) and (¢) 3) (a) and (¢) 4) Only (d)
geios faemEr far o

faem (1) : Afea1 30T ST JFT ThIHD ST SIS HeM echl AT F2 PRI M.

faem (I1) : 2032-33 AT IIHRAT ‘fHeM TS . 2,89 PIET SADT RIS BRUITT 371,
gl SR

q) faum (1) SRR 3MTE, e 3T R) faum (I) R 3, (1) I 3.

3) qel fAUm g fed 8) qral fau™ R 3mRd

Consider the following statements :

Statement (I) : The Mission Shakti Yojana was launched to provide integrated benefits to women
and children.

Statement (I) : A provision of T 2,472 crore has been made for ‘Mission Vatsalya’ for the year
2022 — 23.

Answer options :

1) Statement (II) is correct, (I) is incorrect

2) Statement (I) is correct, (II) is incorrect

3) Both statements are incorrect

4) Both statements are correct
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g faerT féeeTamEd geterid Piort /@ e /fum sRieR amg/d ?

a) Igh g BRI BRiBAN (UNDP) %R0 URIT 3MUe Sfgaraid H-g faem fMdere a1
fheUTdT AT e,

b) g4 fJRT FSeTE I Fheumd AT ois HEAIE SATs g UT. 3 |9 T ST,

¢) aa fawrarel fufed ura gewmar THERY e e e aRuard .

d) 79 GRT ferard Jear -gHt g ST U AT SRR SR,

i IR :

1) (b), (¢), (d) ?) (a), (b), (©) 3) (a), (b), (d) 8) (a), (¢), (d)

Which of the following statement/s is/are correct regarding Human Development Index ?

a) The United Nations Development Program (UNDP) included the concept of Human Develop-
ment Index in its report from 1990.

b) The Credit of the concept Human Development Index goes to Lord Meghnad Desai and Prof.
Amartya Sen.

c¢) Five factors related to Human Development are included in the Human Development Index.

d) The value of Human Development Index is always between zero and one.
Answer options :

1) (b), (), (d) 2) (a), (b), (c) 3) (@), (b),(d) 4) (a), (¢), (d)

SW

(99) fierT PRER , TSI g TEtol ~ Afgdr, Jot, 538 AFRe e Heuida

-9
99-3

Q-
99-%

A FRich, TS 9 TSt

-3 3-3 8=< 4= &—9% v-9 ¢—% R-%¥ q0-%
QR-R Q3-3 9P%-3

AT Brichw - Afgen, go1, S AFRS i deHid

R-R 3-3 8-3 4-3 %=1 V-3 ¢ R-3 q0-%
QR-9 3-9 98- 94-3
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